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Note : This paper is of thirty five (35) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= iSarhl ¼35½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gaSA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of seven and half (7 ) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s lkr ¼7 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Give the DOS Commands to perform the following 

operations : 

vkWijsÇVx flLVe esa fuEufyf[kr dk;ks± ds fu‛iknu djus ds 

fy, dkSu&lk DOS dek.M iz;qDr gksrk gS \ 

(a) Delete all the files from the subdirectory 

WS/DEPT in the drive B whose file names have a 

BAK extension. 

Mªkbo ch esa lcMk;jsDVjh WS/DEPT ftldk 

,DlVsa’ku BAK gS] ls lHkh Qkbyksa dks gVkus ds 

fy,A 

(b) Copy all the files beginning with m and whose 

filename has a TXT extension from drive A to 

the/document directory on drive C. 

lHkh Qkbysa tks ,e ‘kCn ls ‘kq: gksrh gS rFkk ftudk 

TXT ,DlVsa’ku gS] dks Mªkbo A ls Mªkbo C ds 

MkWD;wesaV Mk;jsDVjh esa dkWih djus ds fy,A 

(c) Prepare a disk in drive B so that it can be used to 

boot up the computer. 

Mªkbo B esa fMLd rS;kj djuk rkfd dEI;wVj dks cwLV 

vi fd;k tk lds] ds fy,A 
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(d) Make a new directory NEWDIR under directory 

OLDDIR. Copy all files from directory OLDDIR 

to NEWDIR. 

OLDDIR ds vUrxZr ,d ubZ Mk;jsDVjh  rS;kj djus 

ds fy,] Mk;jsDVjh OLDDIR ls NEWDIR esa lHkh 

Qkbyksa dks dkWih djus ds fy,A 

2. Answer the following : 

fuEufyf[kr dk mŸkj nhft, % 

(a) How is the Switch User option different from the 

Log Off option ?  

ÇoMkst vksijsÇVx flLVe esa yksx vkWQ ,oa fLop ;wtj 

fodYi esa vUrj Li‛V dhft,A  

(b) What is MailMergo in MS-Word explain its 

advantages using an example ? 

,e- ,l- oMZ (MS Word) esa esyetZ (MailMerge) 

D;k gS \ blds bLrseky ls gksus okys ykHkksa dh 

mnkgj.k lfgr O;k[;k dhft,A 

3. Answer the following : 

fuEufyf[kr dk mŸkj nhft, % 

(a) What is absolute cell addressing in a worksheet ? 

How does it differ from relative cell addressing ? 

,Dlsy odZ’khV esa absolute cell addressing/fujis{k 

lsy jsQjsfUlax D;k gksrh gSa rFkk ;g relative cell 

addressing/lkis{k lsy jsQjÇlx ls dSls fHkUu gS \ 
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(b) What are the two types of data can be inserted in 

a cell of a worksheet ? Give examples. 

,Dlsy odZ’khV esa izfo‛V fd, tkus okys nks izdkj ds 

MkVk@lead dkSu&dkSuls gS \ mnkgj.k lfgr O;k[;k 

dhft,A 

4. Answer the following : 

fuEufyf[kr dk mŸkj nhft, % 

(a) What is Justification ? Explain briefly the ways a 

paragraph in a MS-Word document can be 

justified. 

MS-Word ,e- ,l- oMZ esa Justification/vkSfpR; D;k 

gksrk gS \ ,d iSjkxzkQ dks ,e- ,l- oMZ esa fdl izdkj 

ls Justify fd;k tk ldrk gS] laf{kIr O;k[;k  

dhft,A 

(b) It is required to print the page number at the 

bottom and heading at the top-center of the page. 

Give the steps to achieve this. 

fdlh MS Word MkWD;wesaV esa ,d ist esa uhps ist 

uEcj vafdr fd, tkrs gSa rFkk ‘kh‛kZd izfo‛V fd;k 

tkrk gSA bl izfØ;k ij igq¡pus dh O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of two and half (2 ) marks each. Learners 

are required to answer six (06) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ ¼2 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain different types of computer software. 

dEI;wVj lkW¶Vos;j ds fofHkUu izdkjksa dh O;k[;k dhft,A 

2. What is Internet Explorer ? 

Internet Explorer/baVjusV ,DlIyksjj D;k gS \ 

3. Define Internet. Explain different services of Internet. 

bUVjusV dks ifjHkkf‛kr dhft,A baVjusV dh fofHkUu lsokvksa 

dh O;k[;k dhft,A 

4. Compare the five generations of computers on the 

basis of the software technologies used. 

lkW¶Vosj VsDuksykWth ds vk/kkj ij dEI;wVj dh tk¡p ihf<+;ksa 

dh rqyuk dhft,A 

5. Explain the main functions performed by the system 

software of a computer system. 

,d dEI;wVj iz.kkyh ds flLVe lkW¶Vos;j }kjk fd, tkus 

okys eq[; dk;ks± dh O;k[;k dhft,A 

6. Differentiate between system software and Application 

software with one example for each. 

flLVe lkW¶Vos;j ,oa ,Iyhds’ku lkW¶Vos;j dh e/; izR;sd 

dk ,d mnkgj.k nsdj vUrj Li‛V dhft,A 
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7. Give three advantages of windows over DOS operating 

environment. 

Windows/foUMksl vkWijsÇVx flLVe dh DOS/MkWl 

vkWijsÇVx flLVe ls rqyuk djrs gq, Windows/foUMkst 

vkWijsÇVx ds rhu ykHkksa dh O;k[;k dhft,A 

8. How many characters are allowed for a file name in : 

MSDOS, Microsoft Windows. 

Windows/foUMkst vkWijsÇVx flLVe ,oa DOS/Mksl 

vkWijsÇVx flLVe esa fdlh Qkby dk uke fy[kus esa fdrus 

v{kjksa@dSjsDVj dk mi;ksx Lohdk;Z gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half ( ) mark each. All the questions of 

this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  vk/kk ¼ ½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Which protocol provides e-mail facility among 

different hosts ? 

(a) FTP 

(b) SMTP 

(c) TELNET 

(d) SNMP 
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fuEufyf[kr esa ls fofHkUu izksVksdkWy gksLV~l dks bZesy lqfo/kk 

miyC/k djus ds fy, fuEufyf[kr esa ls fdldk iz;ksx gksrk 

gS \ 

¼v½ ,Q- Vh- ih- 

¼c½ ,l- ,e- Vh- ih- 

¼l½ VsyusV 

¼n½ ,l- ,u- ,e- ih 

2. In order to tell Excel that we are entering a formula in 

cell, we must begin with an operator such as : 

(a) $ 

(b) @ 

(c) + 

(d) = 

,Dlsy ds fdlh cell/lsy esa dksbZ QkewZyk fy[kus ls igys 

fuEufyf[kr esa ls dkSu&lk operator/vkijsVj bLrseky gksrk 

gS \ 

¼v½ $ 

¼c½ @ 

¼l½ + 

¼n½ = 

3. Microsoft word is an example of : 

(a) An operating system 

(b) Processing device 

(c) Application software 

(d) System software 
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Microsoft word ¼ekbØkslkW¶V½ oMZ fuEu esa ls fdldk 

mnkgj.k gS \ 

¼v½ vkWijsÇVx flLVe 

¼c½ izkslsÇlx fMokbl 

¼l½ ,Iyhds’ku lkW¶Vos;j 

¼n½ flLVe lkW¶Vos;j 

4. The MS-DOS operating system is a ..................... 

(a) Graphical user interface, single-tasking operating 

system 

(b) Graphical user interface, multi-tasking operating 

system 

(c) Command-driven interface, single-tasking 

operating system 

(d) Command-driven interface, multi-tasking 

operating system 

MS-DOS/,e- ,l-&Mkl vkWisjÇVx flLVe 
-------------------------------------

  

gS \ 

¼v½ xzkfQdy ;wtj baVjQsl] Çlxy VkfLdax vkWijsÇVx 

flLVe 

¼c½ xzkfQdy baVjQsl] eYVh&VkfLdax vkWijsÇVx flLVe 

¼l½ dekaM&fMªosu baVjQsl] Çlxy&VkfLdax vkWijsÇVx 

flLVe 

¼n½ dekaM&fMªosu baVjQsl] eYVh&VkfLdax vkWijsÇVx flLVe 
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5. The horizontal and vertical lines on a spreadsheet are 

called : 

(a) Cells 

(b) Sheets 

(c) Block lines 

(d) Grid-lines 

LizsM’khV ij {kSfrt vkSj Å/okZ/kj ykbuksa dks fuEu esa ls D;k 

dgk tkrk gS \ 

¼v½ lsy 

¼c½ ‘khZV~l 

¼l½ CykWd ykbUl 

¼n½ fxzM ykbUl 

6. Portrait and Landscape are in MS-Word : 

(a) Page Orientation 

(b) Paper Size 

(c) Page Layout 

(d) All of the above 

,e- ,l- oMZ esa iksVsZªV vkSj ySaMLdsi D;k gksrk gS \ 

¼v½ ist vksfj,aVs’ku 

¼c½ ist lkbt 

¼l½ ist ysvkmV 

¼n½ mi;qZDr lHkh 
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7. In PowerPoint a new presentation can be created from : 

(a) Blank Presentation 

(b) From Existing Presentation 

(c) From Design Template 

(d) All of the above 

ikWojikWbaV esa u;h iztsaVs’ku fuEu esa ls fdl izdkj ls cukbZ 

tk ldrh gS \ 

¼v½ CySad izstsaVs’ku 

¼c½ orZeku izstsaVs’ku dks bLrseky djds 

¼l½ fMtkbu VsEiysV }kjk 

¼n½ mi;qZDr lHkh 

8. What PowerPoint feature will you use to apply motion 

effects to different objects of a slide ? 

(a) Slide Transition 

(b) Slide Design 

(c) Animation Objects 

(d) Animation Scheme 

ikWojikWbaV izstsaVs’ku ds LykbM ds vkWCtsDV~l esa eks’ku 

bQsDV Mkyus ds fy, fuEu esa ls dkSu&lh fo’ks‛krk,¡ bLrseky 

gksrh gaS \ 

¼v½ LykbM Vªkath’ku 

¼c½ LykbM fMtkbu 

¼l½ ,uhes’ku vkWctsDV~l 

¼n½ ,uhes’ku Ldhe 
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9. Toolbar Option is present in ................ menu. 

(a) View 

(b) File 

(c) Edit 

(d) Insert 

Vwyckj fodYi 
-------------------------------------

 esuw esa fLFkr gksrk gSA 

¼v½ O;w 

¼c½ Qkby 

¼l½ ,fMV 

¼n½ bUlVZ 

10. What should be the first tag in any HTML document ? 

(a) <head> 

(b) <title> 

(c) <html> 

(d) <document> 

HTML MkWD;wesaV esa lcls igyk tag/VSx fuEu esa ls dkSu&lk 

iz;ksx gksrk gS \ 

¼v½ <head> 

¼c½ <title> 

¼l½ <html> 

¼n½ <document> 
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